Efficiency vs Dxy(PV)
0.2

g
=0.18
x
kel

Ratio

5 10 15 20
TP dxy(PV) (cm)

—— DQN_ONgmal StepZ_har-phase LT
—e— DQM pixelCPETemplate step?. ttbar-| hasel-newgeom
—— DQMpixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom
—— DOM pixelCPETemplateCutChiSquareNewZ_stepZ_ttbar-phasel-newgeom
— —— DQM”pixelCPETemplateCutChiSquareNew3_step2_ttbar-phasel-newgeom
I Efficienc] —— b pixelCPETemplateCutChiSquareNew4_step2_ttbar-phasel-newgeom
Q
< 0
L
>
x
o
1%
>
>
8)
c
2
2
=
@

10 20 30

TP dz(PV) (cm)
0.5

.5 1
dz(PV) (cm)



	Contents
	Page 1


